Ryan buys a microwave
oven for £85.48 plus VAT
at 20%. Find the total cost.
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After a pay increase of 3% Karen
now earns £463.50. What did
she earn before her pay rise?

£25900 £212.96




The pass mark for a Physics
test is 60%. Sam got 23
out of 40. Did she pass?

£102.58
to the
nearest
penny

In a sale, normal prices are
reduced by 12%. What is the sale
price of a DVD player costing £242?

£102.58
to the
nearest
peEnny

£212.96




Charlotte buys a new car for
£35000. After a year it has
lost 26% of its initial value.

How much is it worth then?

£102.58
to the
nearest
penny




